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except school holidays. Otherwize please contact Tara on 0457



Inferring

Inferring is being able to ‘read between the lines’,
when the author implies something but doesn’t exactly
state it. You need to use the clues in the text and your

own prior knowledge to help you understand.

“Sarah’s mouth il
was dry and she had : .
a big knot in her f r
stomach. She wished
today was already
over.”

. 1 think
Sarah sounds really
_nervous about giving
her speech to the
whole school.
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| Making connections is when we make links between
what we already know (our prior knowledge) and

l the text.

There are three kinds of connections we can make.
|

The first is called:

Text to self

l This is when we connect the text

to our own experiences.

This part makes
me think about when I
lost the necklace my Nan
gave me. I know what
it feels like to lose
something precious.
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